EARAROBREBRT —5 XN—ZXBISH—F

20224F108108 (B) 158&R18

BT zz4mEvor t e x@BER YSFMB [FRI® | emw - | 7 oo A
[xE&] 15:420,000H  23&:134,000H  3#&:67,000H  43%&:50,000MH  5i3&:42,000H
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
TAYYRGYAY 4 3 ?g%d*ﬂ 1:29.3 3-4-1-1 |37.7| - 1 440 ;'EJIH&Z (&ER)
: =) THRE
RiIAYVeEAY B IAYVI—-KET 10 SIERUS
o__ »_ 4 3 | HBAHBAR 1:29.3 === || 79| = 3 402 |EH—E &R
l: Z{ f s ~ 53.0 F93) ) |TEHOE
RibwYO—LR B:vF/F—D BR BB
S i 7 — 5 t 8 | JEISHETE 1:30.5 7-6-4-4 | 38.6| — 10 | 492 |MEEOR (&R
,/\_le"_'j"wXT_Z s ’ 56.0 ® @4 | B I7—ZbEY3Y
R:T—IURFPUa—)L B:T—)LU— ke
ARNY—XZYIT FERER R CE 1 (:13/02.)6 9-7-7-6 |38.2| — | 4 | 419 %ﬁgmﬁ &R
RiAYATRAVY N B:7vyarviN— (-5) picEies]
y — s 4 | BEAT 1:30.8 5-5-5-4 | 39.0| — 2 | 476 | NIEERE (&R
518 M 'jU“)L’IU t . 54.0 1172 @3 | @) Tr—2hETay
KXY B:ISFIU—E AFAYRI YR
\ W st 4 | FEELE 1:30.8 6-7-7-7 |38.4| -— 9 46 | BAZ (&R
618110 I{Jl/jf(*{h\ ) 54.0 F9%) ) | BE—
R:¥TT« B:¥ra0Oxvhk TS
g st 4 | EEHELE 1:31.1 2-2-1-3 |39.7] - 7 | 462 |DNHZ &R
715]5 ARy 54.0 11/2 BERY
RiTSYIITAK BTUUPYRRI— v )| S
81101 ST —T 5 ﬁ%ﬁ;ﬁ‘& 1:(331).8 3-3-57 [39.9] - 5 524 ggurtg &R
RIRFVFLY BSTLIDI | gy
S5~,5" _)— 4 4 | HEES 1:31.9 11-9-9-9 |39.3| - 6 43 | HiE—th (&R)
EH 7 ,7\./3L\7\ h=U- 54.0 RT) o) | PEE
RiTSVIILR B:0/vYR EHRHPYHIS
N 4 5 | BEHRD 1:33.1 10-10-10-10| 39.8 | — " 450 | SREF @&R)
10179 I7\J_'j’“f’5’J_Z o 54.0 © Gy | BHE
R:FAF BYAXZvIUFT« bk e
17l g | AR IR Y # o6 | PSR 1:(313).3 7-10-11-1139.7 | - | 8 | 542 EE{%? &R
RFIN—T BARYEILIAY 2| smgs
@ 1—F—&RIEL
13—7— 2,5,(1,6),11,10, (3,8) ,4,9,7
20— — 2,5,1,6,11,3, (4,10),7, (8,9)
30—7— (2,5,6),3,(1,11), (4,10),7,9,8
43—F— (2,6),5,(3,11) ,4,(1,10),7,9,8
o ILRE
BB 6 170M JA R 2-6 180H e B 2-6 360M 3EE 2-3-6 8,610
B B 6 1409 3-6 4,330M (=1 6-2 390 3EH 6-2-3 26,8104
2 160 2-3 3,560 5 & 2-6 340
3 1,370 =51 6-2 6504

ABIC OV TRUTEREERRODDZE. THRIIZEL.



